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Add the following.

7+4-= 8+3= 7+5= 8+5=
6+7= 7+7= 8+6= 8+4-=
9+3= 9+2= 6+5= 6+6=
8+7= 9+5= 6+8= 7+7=
9+6= 4+8= 7+3= 8+8=
9+9-= 8+2-= 8+9-= 7+9-=
5+7 = 9+5= 8+6= 5+8=
7+6¢= 8+4= 6+6= 5+9=
8+5= 7+5= 8+6= 9+7-=
8+7= 6+8-= 5+9= 3+8+=
6+5= 7+6= 44+7-= 8+ 4=
9+3-= 5+8= 7+5= 2+9=
7+8= 6+8= 8+9= 5+9=

8+5= 3+6= 4+7= 3+b5=
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Subtract the following.

13-6= 14 -8 = 16 -7 = 15-6=
16 - 8 = 14-7 = 15-7= 14 -6 =
17-9= 18 - 8 = 12-5= 12-8=
11-4-= 12-7-= 13-5= 14-5=
14 -6 = 17 -8 = 15-7-= 12-4-=
12-6-= 13-8= 18-8= 14-5=
16 -8 = 17 -6 = 14 -6 = 12-7=
11-6= 12-3= 11-7-= 16-7=
10-5= 11-8= 12-8-= 19-7-=

19-12 = 15-4-= 17 -8 = 13-7=
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Add the following.

27 +4 = 28+ 3= 17 + 4 = 18 +5 =
13+3= 19+2= 6+25= 15+6=
17 +7 = 9+25= 6+18 = 7+37=
9+46= 4+18 = 72+ 3= 18 + 8 =
9+16+= 8+12= 8+39-= 17+9 =
25+7-= 82 +6 = 12 + 27 = 23+8=

Subtract the following.

33-6-= 14-8= 25-7-= 52-5=
12-7-= 13-8= 18 -8= 14-5-=
36-8-= 17 -6 = 14-8= 12-6=
21-6-= 22 -4-= 17 -7 = 16 -7 =
10-5= 11-8= 32-8-= 19-7-=
19-12 = 55-4-= 27 -8 = 13-6-=

27-9-= 44 -6 = 62-8-= 25-7-=
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10 20 30 40 50 60
+10 + 10 + 20 *+30 +40 *20
30 40 50 60 70 80
*20 *+30 +40 *20 *+30 + 10
30 40 50 60 70 20
*+30 +40 *50 +40 +40 +10
80 90 60 70 20 30
*20 +10 *30 *20 *20 *20
80 90 70 70 50 60
*+30 *20 *60 50 *20 *30
40 80 90 80 50 40
*20 *+40 *30 *60 *+40 *30
100 90 40 70 60 40
+30 90 *20 *30 *20 *+40

Clarke bought some peppermint candies for 20 cents and some chocolate candy for 50
cents. How much did she spend on all of the candy?

Luke made 80 model airplanes and 10 model cars. How many models did he make all
together?
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100 20 30 40 50 60
-10 -10 - 20 -30 -30 -50
80 60 70 80 90 50
-20 -30 - 40 - 20 -30 -10
40 100 80 60 90 20
-30 - 40 -50 - 40 - 40 -10
100 90 60 70 90 50
80 40 70 90 50 60
80 80 100 80 50 90
- 20 - 60 -30 -30 - 40 -30
100 90 40 70 60 40
80 80 60 90 100 120
-30 - 50 -10 - 80 - 50 - 40

Courtnie was carrying a tray with 30 cups of juice on it. By the time she got to the
table, 10 of the cups had spilt. How many cups of juice are still standing up on the
tray?
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46 42 17 16 14 15
+43 + 32 +12 +13 +11 +11
69 44 46 55 39 52
+10 +25 + 31 +44 +30 + 34
21 20 18 89 19 43
+18 + 19 +11 + 20 +10 +35
72 14 20 79 25 37
+ 45 +14 + 17 + 20 + 14 + 22
40 12 23 28 38 54
+ 39 +11 +22 +11 + 21 +34
67 53 72 66 64 85
+ 32 + 36 + 25 + 32 + 15 +13
63 18 80 87 25 19
+ 25 + 31 +19 + 22 +14 + 10

Patty and George were picking apples. Patty picked 59 apples. Five of them had
worm holes, so she threw them out. George picked 43 apples. He threw out 9 of
them because of worm holes. How many apples, without worm holes, did Patty and
George pick all together?
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43 46 69 36 45 29
+18 +19 +11 + 20 + 10 +16
72 17 33 79 25 34
+46 +14 +17 +22 + 17 + 27
44 17 28 29 38 90
+39 +16 +22 +12 +29 +24
69 55 76 48 67 82
+32 +36 +25 +32 +15 +68
18 27 13 11 12 19
22 25 44 53 98 20
16 42 17 16 14 17
+43 +32 +12 +13 +11 +32
10 29 32 20 41 27
86 23 08 82 77 86
69 44 46 55 39 31
+ 10 + 25 + 31 +44 +30 +47

The bus driver was the only per on the bus. She picked up 14 kids at the first stop
and then 11 more kids at the second stop. Her last stop had the most amount of
kids, where she picked up a total of 23 more. How many people are on the bus now?
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Below are 10 different numbers. Each number has a 5 in it somewhere. Can you
name the column that has a 5 in it? It will either be in the ones, tens, or hundreds
column. The first one is answered for you.

1. 250 The bis in the ten's column.

2. 523
3. 425
4. 657
5. 584
6. 560
7. 725
8. 395
9. 54

10. 975

Use numbers to write the following.

11.  One hundred twenty-two
12.  Five hundred sixty-four
13.  Three hundred eighty-one
14.  Seven hundred-six

15.  One hundred
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72 86 94 45 68 95
- 61 - 44 -61 =22 -26 -53
53 28 32 47 99 79
=22 =15 -1 =16 -54 =22
88 66 74 38 55 86
- 42 - 25 -52 -14 -34 -55
39 77 79 64 86 97
=17 -23 -46 -24 =24 -52
96 57 47 34 78 67
- 44 - 35 -12 -24 -45 -23
94 97 67 85 46 34
-71 -34 -25 -33 _25 22

Angel had $98, but then she bought a video game for $35. How much money does
she have left?

Debbie collected 54 dolls. She gave 12 of them to Brianna. How many dolls does
Debbie have left?
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85 97 73 64 55 66
=37 - 38 =25 -18 -47 =97
32 41 84 95 76 27
-24 -35 -56 - 66 -38 -19
65 51 57 25 53 82
- 47 - 47 -39 -18 -45 -39
72 97 68 74 23 94
-36 -48 -29 -58 -16 -78
82 55 36 23 47 65
- 38 -36 -18 =17 - 38 -47
84 72 91 36 44 54
- 27 -27 - 56 - 19 - 28 -35
67 53 22 73 53 46
_ 49 _17 - 15 -57 - 36 - 37

Teresa had $55 in her piggy bank. She spends $39 on her brother's birthday
present. How much money does she have left?

There is an 80-piece puzzle box on the table. Yolanda put the puzzle pieces
together, but she was missing 12 pieces. How many pieces were really in the box?
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408 600 803 190 640 407
-79 - 46 -55 -24 -18 -39
204 107 409 300 250 639
-46 -19 -117 -22 -43 -55
700 880 440 307 810 835
-143 -92 -121 -48 - 28 -99
900 505 660 201 730 734
-33 -38 -85 -93 -47 - 69
160 909 640 100 330 644
-83 -67 -57 -65 - 68 -59
401 604 707 500 390 430
-13 -25 - 68 -44 -97 -89

Josh has 425 comic books. He sells 88 of them to his friend. How many comic
books does Josh have left?

Brendon has jogged 4697 feet. One mile is equal o 5280 feet. How many more
feet does Brendon need to jog to reach one mile?
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CHAPTER 2 REVIEW TEST

1. 7+8= 2. 8+6= 3. 9+4:=
4. 13+5= 5. 12+7= 6. 17 +3 =
7. 23+5= 8. 14 +13 = 9. 24 +7 =
10. 33+18-= 11. 42+11= 12. 54+14-=
13. 75 14. 67 15. 82
*23 +32 *27
16. 99 17. 56 18. 77
+34 +45 +23
19. 25 20. 67 21. 26
39 45 40
31 97 29
+62 + 5l *73
22. 1457 23. 7510 24. 29,752
+978 +798 + 4,869

25. Jennifer drove 758 miles to Nina's house. Then she drove another
1,543 miles to Trent's house. a). How many miles did she drive all
together? b). Look at your answer. Which number is in the
hundreds column?



26.

29.

32.

35.

38.

41.

44,

47.

50.

10-6-= 27. 9-5H= 28. 10-3=
13-5= 30. 15-7-= 3. 14-6-=
29-7:= 33. 42-8-= 34, 74-6-=
50-30= 36. 90-60-= 37. 100-40-=
547 39. 726 40. 983

-36 -25 -71

906 42. 1,009 43. 3,074
1,032 45, 6,243 46. 6,100

- 715 - 1858 -4 097
18-9= 48. 16-9-= 49. 13-9-=

The movie theater holds 2000 people. There are already 1687 people inside
the theater. How many more people can the theater hold?

Cammy gave Jordan $300 for graduating. Jordan bought a video game
system for $199 and a video game for $49. How much money does
Jordan have left?

Chris received 1734 text messages last month. Michael sent 1249 of
the messages, the rest were from Dale. How many text messages did Chris
receive from Dale?

Today is April 28. It was Maggi's birthday 9 days ago. When is Maggi's
birthday?



